Carpathian Math. Publ. 2024, **16** (1), 259–266 doi:10.15330/cmp.16.1.259-266



On a generalization of some Shah equation

Sheremeta M.M., Trukhan Yu.S.

A Dirichlet series $F(s) = e^{hs} + \sum_{k=2}^{\infty} f_k e^{s\lambda_k}$ with the exponents $0 < h < \lambda_k \uparrow + \infty$ and the abscissa of absolute convergence $\sigma_a[F] \geq 0$ is said to be pseudostarlike of order $\alpha \in [0, h)$ and type $\beta \in (0, 1]$ in $\Pi_0 = \{s : \operatorname{Re} s < 0\}$ if $\left|\frac{F'(s)}{F(s)} - h\right| < \beta \left|\frac{F'(s)}{F(s)} - (2\alpha - h)\right|$ for all $s \in \Pi_0$. Similarly, the function F is said to be pseudoconvex of order $\alpha \in [0, h)$ and type $\beta \in (0, 1]$ if $\left|\frac{F''(s)}{F'(s)} - h\right| < \beta \left|\frac{F''(s)}{F'(s)} - (2\alpha - h)\right|$ for all $s \in \Pi_0$, and $s \in \Pi_0$ are said to be close-to-pseudoconvex if there exists a pseudoconvex (with $s \in \Pi_0$ and $s \in \Pi_0$) function $s \in \Pi_0$ such that $s \in \Pi_0$ function $s \in \Pi_0$ and $s \in \Pi_0$ function $s \in \Pi_0$ function

Conditions on parameters a_1 , a_2 , b_1 , b_2 , c_1 , c_2 , under which the differential equation $\frac{d^n w}{ds^n} + (a_1 e^{hs} + a_2) \frac{dw}{ds} + (b_1 e^{hs} + b_2) w = c_1 e^{hs} + c_2$, $n \ge 2$, has an entire solution pseudostarlike or pseudoconvex of order $\alpha \in [0,h)$ and type $\beta \in (0,1]$, or close-to-pseudoconvex in Π_0 are found. It is proved that for such solution $\ln M(\sigma,F) = (1+o(1)) \frac{n\sqrt[n]{|b_1|}}{h} e^{h\sigma/n}$ as $\sigma \to +\infty$, where $M(\sigma,F) = \sup\{|F(\sigma+it)| : t \in \mathbb{R}\}$.

Key words and phrases: differential equation, Dirichlet series, pseudostarlikeness, pseudoconvexity, close-to-pseudoconvexity.

Ivan Franko National University of Lviv, 1 Universytetska street, 79001, Lviv, Ukraine E-mail: m.m.sheremeta@gmail.com(Sheremeta M.M.), yurkotrukhan@gmail.com(Trukhan Yu.S.)

Introduction

Let *S* be a class of functions

$$f(z) = z + \sum_{n=2}^{\infty} f_n z^n \tag{1}$$

analytic univalent in $\mathbb{D}=\{z:|z|<1\}$. The function $f\in S$ is said to be convex if $f(\mathbb{D})$ is a convex domain and is said to be starlike if $f(\mathbb{D})$ is starlike domain regarding the origin. It is well known [2] that the condition $\operatorname{Re}\big\{1+zf''(z)/f'(z)\big\}>0, z\in\mathbb{D}$, is necessary and sufficient for the convexity of f, and that the condition $\operatorname{Re}\big\{zf'(z)/f(z)\big\}>0, z\in\mathbb{D}$, is necessary and sufficient for the starlikeness of $f\in S$. By W. Kaplan [7] the function $f\in S$ is said to be close-to-convex (see also [2, p. 583]) if there exists a convex in \mathbb{D} function Φ such that $\operatorname{Re}\big(f'(z)/\Phi'(z)\big)>0, z\in\mathbb{D}$.

The concept of the starlikeness of a function $f \in S$ got the series of generalizations. I.S. Jack [6] studied starlike functions of order $\alpha \in [0, 1)$, i.e. such functions $f \in S$, for which Re $\{zf'(z)/f(z)\} > \alpha$, $z \in \mathbb{D}$. It is proved (see [6], [11, p. 13]) that if $\sum_{n=2}^{\infty} (n-\alpha)|f_n| \le 1-\alpha$, then function $f \in S$ is starlike of order α . V.P. Gupta [4] introduced the concept of starlike function of order $\alpha \in [0, 1)$ and type $\beta \in (0, 1]$. A function $f \in S$ is said to be starlike of order $\alpha \in [0, 1)$ and type $\beta \in (0, 1]$ if $|zf'(z)/f(z)-1| < \beta|zf'(z)/f(z)+1-2\alpha|$ for all $z \in \mathbb{D}$.

It is proved [4] that if $\sum_{n=2}^{\infty} \{(1+\beta)n - \beta(2\alpha-1) - 1\} |f_n| \le 2\beta(1-\alpha)$, then function $f \in S$ is starlike of order α and type β . According to the Alexander criterion [1, 3], a function (1) is close-to-convex in $\mathbb D$ if $1 \ge 2f_2 \ge \cdots \ge kf_k \ge (k+1)f_{k+1} \ge \cdots$.

Studying the properties of the solutions of the differential equation

$$z^{2}\frac{d^{2}w}{dz^{2}} + \left(\beta_{1}z^{2} + \beta_{2}z\right)\frac{dw}{dz} + (\gamma_{1}z + \gamma_{2})w = 0,$$
(2)

S.M. Shah proved [8] that if $\beta_2 > 0$, $-1 \le \beta_1 < 0$ and either $\gamma_2 = 0$, $-\beta_2 \le \gamma_1 < 0$ or $\beta_2 + \gamma_2 = 0$, $-\beta_2 \le 2\gamma_1 < 0$, then differential equation (2) has an entire solution such that all derivatives $f^{(j)}$, $j \in \mathbb{Z}_+$, are close-to-convex functions in \mathbb{D} and $\ln M_f(r) = (1 + o(1))|\beta_1|r$ as $r \to +\infty$, where $M_f(r) := \max\{|f(z)| : |z| = r\}$. The convexity of solutions of the Shah equation has been studied in [14,15].

Dirichlet series are a direct generalization of power series. For h > 0, let (λ_k) be an increasing to $+\infty$ sequence of positive numbers such that $\lambda_2 > h$. Let Dirichlet series

$$F(s) = e^{sh} + \sum_{k=2}^{\infty} f_k \exp\{s\lambda_k\}, \quad s = \sigma + it,$$
(3)

be absolutely convergent in a half-plane $\Pi_0 = \{s : \text{Re } s < 0\}$. It is known (see [5] and [11, p. 135]) that each function F of such type is non-univalent in Π_0 , but if $\sum_{k=2}^{\infty} \lambda_k |f_k| \leq h$, then function F is conformal in Π_0 .

A conformal in Π_0 function F is said to be pseudostarlike if $\text{Re}\{F'(s)/F(s)\} > 0$, $s \in \Pi_0$. If in the definition of the pseudostarlikeness instead of F'/F we put F''/F', then we get (see [5] and [11, p. 139]) the definition of the pseudoconvexity of F. In [5] (see also [11, p. 139]) it is proved that if $\sum_{k=2}^{\infty} \lambda_k |f_k| \leq h$, then function (3) is pseudostarlike.

A conformal function (3) is said to be [13] pseudostarlike of the order $\alpha \in [0, h)$ if $\text{Re}\{F'(s)/F(s)\} > \alpha$ for all $s \in \Pi_0$. As in [13], we call a conformal function (3) in Π_0 pseudostarlike of the order $\alpha \in [0, h)$ and the type $\beta \in (0, 1]$ if

$$|F'(s)/F(s) - h| < \beta |F'(s)/F(s) - (2\alpha - h)|$$

for $s \in \Pi_0$. Finally, the function (3) is said [11, p. 140] to be close-to-pseudoconvex if there exists a pseudoconvex function Ψ such that $\text{Re}\{F'(s)/\Psi'(s)\} > 0$ in Π_0 .

Let $z = e^s$. Then equation (2) will be written in the form

$$\frac{d^2w}{ds^2} + (\beta_1 e^s + \beta_2 - 1)\frac{dw}{ds} + (\gamma_1 e^s + \gamma_2)w = 0,$$

and a generalization of this equation is a differential equation

$$\frac{d^n w}{ds^n} + \left(a_1 e^{hs} + a_2\right) \frac{dw}{ds} + \left(b_1 e^{hs} + b_2\right) w = c_1 e^{hs} + c_2, \quad n \ge 2, \quad h > 0.$$
 (4)

The purpose of this article is to study the properties of solutions of the equation (4).

1 Recurrent formulas

We will search the solution of the equation (4) in the form

$$w = F(s) = \sum_{k=0}^{\infty} f_k e^{s\lambda_k}, \quad s = \sigma + it,$$

where $0 = \lambda_0 < \lambda_k \uparrow +\infty$ as $k \to \infty$. Then

$$\sum_{k=1}^{\infty} (\lambda_k^n + a_2 \lambda_k + b_2) f_k e^{s\lambda_k} + b_2 f_0 + \sum_{k=1}^{\infty} (a_1 \lambda_k + b_1) f_k e^{s(\lambda_k + h)} + b_1 e^{hs} f_0 \equiv c_1 e^{hs} + c_2,$$

whence as $\sigma \to -\infty$ we get $b_2 f_0 + o(1) = c_2 + o(1)$, i.e. $f_0 = c_2/b_2$ and

$$(\lambda_1^n + a_2\lambda_1 + b_2)f_1e^{s\lambda_1} + \sum_{k=2}^{\infty}(\lambda_k^n + a_2\lambda_k + b_2)f_ke^{s\lambda_k} + \sum_{k=1}^{\infty}(a_1\lambda_k + b_1)f_ke^{s(\lambda_k + h)} \equiv (c_1 - b_1f_0)e^{hs}.$$

If $\lambda_1^n + a_2\lambda_1 + b_2 \neq 0$ and $c_1 - b_1f_0 \neq 0$, then we obtain

$$(1+o(1)) (\lambda_1^n + a_2\lambda_1 + b_2) f_1 e^{s\lambda_1} = (c_1 - b_1 f_0) e^{hs}$$

as $\sigma \to -\infty$, therefore

$$\lambda_1 = h$$
, $f_1 = \frac{c_1 - b_1 f_0}{\lambda_1^n + a_2 \lambda_1 + b_2} = \frac{c_1 - b_1 f_0}{h^n + a_2 h + b_2}$

and

$$\sum_{k=2}^{\infty} \left(\lambda_k^n + a_2 \lambda_k + b_2\right) f_k e^{s\lambda_k} + \sum_{k=1}^{\infty} \left(a_1 \lambda_k + b_1\right) f_k e^{s(\lambda_k + h)} \equiv 0.$$
 (5)

Writing the identity (5) in the form

$$(\lambda_2^n + a_2\lambda_2 + b_2) f_2 e^{s\lambda_2} + \sum_{k=3}^{\infty} (\lambda_k^n + a_2\lambda_k + b_2) f_k e^{s\lambda_k} + (a_1\lambda_1 + b_1) f_1 e^{2hs}$$
$$+ \sum_{k=2}^{\infty} (a_1\lambda_k + b_1) f_k e^{s(\lambda_k + h)} \equiv 0,$$

as above, by condition $\lambda_2^n + a_2\lambda_2 + b_2 \neq 0$ and $a_1\lambda_1 + b_1 \neq 0$, we get

$$\lambda_2 = 2h$$
, $f_2 = -\frac{a_1\lambda_1 + b_1}{\lambda_2^n + a_2\lambda_2 + b_2} f_1 = -\frac{a_1h + b_1}{(2h)^n + 2ha_2 + b_2} f_1$

and

$$\sum_{k=3}^{\infty} \left(\lambda_k^n + a_2\lambda_k + b_2\right) f_k e^{s\lambda_k} + \sum_{k=2}^{\infty} \left(a_1\lambda_k + b_1\right) f_k e^{s(\lambda_k + h)} \equiv 0.$$

Continuing this process, we obtain for $k \ge 3$

$$\lambda_k = kh, \quad f_k = -\frac{(k-1)ha_1 + b_1}{(kh)^n + kha_2 + b_2} f_{k-1},$$

provided $(kh)^n + kha_2 + b_2 \neq 0$ and $(k-1)ha_1 + b_1 \neq 0$.

Thus, the following statement is true.

Lemma 1. If $b_2 \neq 0$, $c_1b_2 - c_2b_1 \neq 0$, $(kh)^n + kha_2 + b_2 \neq 0$ and $kha_1 + b_1 \neq 0$ for all $k \geq 1$, then differential equation (4) has a solution

$$F(s) = \frac{c_2}{b_2} + \frac{c_1 b_2 - c_2 b_1}{b_2 (h^n + ha_2 + b_2)} e^{sh} + \sum_{k=2}^{\infty} f_k e^{skh}, \tag{6}$$

where
$$f_k = -\frac{(k-1)ha_1 + b_1}{(kh)^n + kha_2 + b_2} f_{k-1}$$
 for $k \ge 2$.

2 Growth

For $k \ge 2$ we have

$$|f_k| \leq \prod_{j=2}^k \frac{(j-1)h|a_1| + |b_1|}{|(jh)^n + jha_2 + b_2|} \leq \prod_{j=2}^k \frac{B}{j^{n-1}}, \quad B = \max_{j \geq 2} \frac{h|a_1| + |b_1|j^{-1}}{|h^n + j^{1-n}ha_2 + b_2j^{-n}|},$$

whence we have $\ln |f_k| \le k \ln B - (n-1) \sum_{j=2}^k \ln j = -(1+o(1))(n-1)k \ln k$ as $k \to \infty$, i.e.

 $\lim_{k\to\infty}\frac{1}{\lambda_k}\ln\frac{1}{|f_k|}=\lim_{k\to\infty}\frac{1}{kh}\ln\frac{1}{|f_k|}=+\infty \text{ and, as is well known (see, e.g., [9, p. 10]), function (6)}$ is entire.

To study the growth of entire function (6) we use the Wiman-Valiron method. Let $M(\sigma,F)=\sup\left\{\left|F(\sigma+it)\right|:t\in\mathbb{R}\right\},\ \mu(\sigma,F)=\max\left\{\left|f_k\right|\exp\{\sigma\lambda_k\}:k\geq 0\right\}$ be the maximal term and $\nu(\sigma,F)=\max\left\{k:\left|f_k\right|\exp\{\sigma\lambda_k\}=\mu(\sigma,F)\right\}$ be the central index.

Suppose that the exponents of Dirichlet series (6) satisfy the condition $\int_{0}^{\infty} \frac{\ln n(t)}{t^2} dt < +\infty$,

where
$$n(t) = \sum_{0 < \lambda_n \le t} 1$$
, and put $\eta(x) = \int_x^\infty t^{-2} \ln n(t) dt$, $l(x) = \frac{1}{\eta(x)} \ln^{-2} \frac{1}{\eta(x)}$ and

$$k(x) = x\sqrt{\frac{1}{l(x)}}$$
. Then (see [12]) for every $m \in \mathbb{N}$ and all s , Re $s = \tau$, $|\tau - \sigma| < \frac{1}{30k(\lambda_{\nu(\sigma,F)})}$ the following equality holds

$$F^{(m)}(s) = \lambda_{\nu(\sigma,F)}^{m} \Big(F(s) + o\big(M(\sigma,F) \big) \Big)$$
(7)

as $0 \le \sigma \to +\infty$ outside of some set $E \subset [0, +\infty)$ of finite measure and E is contained in the union of intervals $[R_{\nu} + \tau_{\nu-1}, R_{\nu} + \tau_{\nu})$, where $\tau_{\nu} - \tau_{\nu-1} \to 0$ as $\nu \to \infty$.

Let $\delta(\sigma)$ be an arbitrary positive function on $[0, +\infty)$, which tends to zero as $\sigma \to +\infty$, and $\Delta(\sigma) = \{s : \text{Re } s = \sigma, |F(s)| \ge 1 - \delta(\sigma)M(\sigma, F)\}$. Then choosing $\tau = \sigma$, from (7) we get

$$F^{(m)}(s) = \lambda_{\nu(\sigma,F)}^{m} F(s) (1 + \varepsilon(\sigma)), \quad s \in \Delta(\sigma), \tag{8}$$

where $\varepsilon(\sigma) \to 0$ as $\nu \to \infty$. Substituting (8) in (4), by the condition $b_1 \neq 0$ we obtain $\lambda^n_{\nu(\sigma,F)} = |b_1|e^{h\sigma}(1+\varepsilon_1(\sigma))$, where $\varepsilon_1(\sigma) \to 0$ as $\sigma \to +\infty$, $\sigma \notin E$. Therefore,

$$\lambda_{\nu(\sigma,F)} = (1 + o(1)) \sqrt[n]{|b_1|} e^{h\sigma/n}, \quad \sigma \to +\infty, \sigma \notin E.$$
 (9)

If $\sigma \in E$, i.e. $\sigma_{\nu-1} := R_{\nu} + \tau_{\nu-1} \le \sigma \le \sigma_{\nu} := R_{\nu} + \tau_{\nu}$ for some ν , then $\sigma_{\nu} - \sigma_{\nu-1} \to 0$ and, thus, $e^{h\sigma_{\nu-1}} = (1 + o(1))e^{h\sigma} = (1 + o(1))e^{h\sigma_{\nu}}$ as $\nu \to \infty$. Therefore,

$$\begin{split} \big(1+o(1)\big)e^{h\sigma} &= \big(1+o(1)\big)e^{h\sigma_{\nu-1}} = \lambda_{\nu(\sigma_{\nu-1},F)} \leq \lambda_{\nu(\sigma,F)} \leq \lambda_{\nu(\sigma_{\nu},F)} \\ &= \big(1+o(1)\big)e^{h\sigma_{\nu}} = \big(1+o(1)\big)e^{h\sigma}, \quad \sigma \to +\infty, \end{split}$$

i.e. (9) is valid if $\sigma \to +\infty$. Since $\ln \mu(\sigma, F) = \ln \mu(0, F) + \int_0^{\sigma} \lambda_{\nu(t, F)} dt$ for all $\sigma \in \mathbb{R}$ (see, e.g., [9, p. 17]), by L'Hôpital's rule we get

$$\ln \mu(\sigma, F) = (1 + o(1)) \frac{n \sqrt[n]{|b_1|}}{h} e^{h\sigma/n}, \quad \sigma \to +\infty.$$

Then, since $\lambda_n = nh$ for all integers $n \ge 0$, we have $\ln M(\sigma, F) = (1 + o(1)) \ln \mu(\sigma, F)$ as $\sigma \to +\infty$ (see, e.g., [9, p. 22] and [10]). Therefore, the following theorem is proved.

Theorem 1. The solution (6) of differential equation (4) is an entire function and

$$\ln M(\sigma, F) = (1 + o(1)) \frac{n \sqrt[n]{|b_1|}}{h} e^{h\sigma/n}, \quad \sigma \to +\infty.$$

3 Pseudostarlikeness

Using Lemma 1, we can find the conditions under which solution (6) of equation (4) will be pseudostarlike. First of all, we note that in order for this solution to look like (3), it is necessary that $c_2 = 0$ and $c_1 = h^n + ha_2 + b_2$. In [13], it is proved that if

$$\sum_{k=2}^{\infty} \left\{ (1+\beta)\lambda_k - 2\beta\alpha - h(1-\beta) \right\} |f_k| \le 2\beta(h-\alpha), \tag{10}$$

then function (3) is pseudostarlike of the order $\alpha \in [0, h)$ and the type $\beta \in (0, 1]$.

For function (6) with $f_0 = 0$ and $f_1 = 1$ by the condition $(kh)^n + kha_2 + b_2 > 0$ we have

$$\sum_{k=2}^{\infty} \left\{ (1+\beta)\lambda_{k} - 2\beta\alpha - h(1-\beta) \right\} |f_{k}|
\leq \sum_{k=2}^{\infty} \left\{ (1+\beta)kh - 2\beta\alpha - h(1-\beta) \right\} \frac{(k-1)h|a_{1}| + |b_{1}|}{(kh)^{n} + kha_{2} + b_{2}} |f_{k-1}|
= \sum_{k=1}^{\infty} \left\{ (1+\beta)(k+1)h - 2\beta\alpha - h(1-\beta) \right\} \frac{kh|a_{1}| + |b_{1}|}{((k+1)h)^{n} + (k+1)ha_{2} + b_{2}} |f_{k}|
= \left\{ (1+\beta)2h - 2\beta\alpha - h(1-\beta) \right\} \frac{h|a_{1}| + |b_{1}|}{(2h)^{n} + 2ha_{2} + b_{2}}
+ \sum_{k=2}^{\infty} \left\{ (1+\beta)(k+1)h - 2\beta\alpha - h(1-\beta) \right\} \frac{kh|a_{1}| + |b_{1}|}{((k+1)h)^{n} + (k+1)ha_{2} + b_{2}} |f_{k}|
= \sum_{k=2}^{\infty} \left\{ (1+\beta)\lambda_{k} - 2\beta\alpha - h(1-\beta) \right\} A_{k} |f_{k}| + B,$$
(11)

where

$$A_k = \frac{(1+\beta)(k+1)h - 2\beta\alpha - h(1-\beta)}{(1+\beta)kh - 2\beta\alpha - h(1-\beta)} \frac{kh|a_1| + |b_1|}{((k+1)h)^n + (k+1)ha_2 + b_2}$$

and

$$B = \left\{ (1+\beta)2h - 2\beta\alpha - h(1-\beta) \right\} \frac{h|a_1| + |b_1|}{(2h)^n + 2ha_2 + b_2}.$$

Suppose that $a_2 \ge 0$ and $b_2 > 0$. Then, since $\alpha < h$, for all $k \ge 2$ we have

$$\frac{(1+\beta)(k+1)h - 2\beta\alpha - h(1-\beta)}{(1+\beta)kh - 2\beta\alpha - h(1-\beta)} = 1 + \frac{(1+\beta)h}{(1+\beta)kh - 2\beta\alpha - h(1-\beta)} \le 2$$

and for all $k \ge 1$ we have

$$\frac{kh|a_1|+|b_1|}{\left((k+1)h\right)^n+(k+1)ha_2+b_2} \le \frac{kh|a_1|+|b_1|}{(kh)^n+kha_2+b_2} \le \frac{|b_1|}{b_2},$$

provided $|a_1| b_2 \le |b_1| a_2$. Therefore, $A_k \le 2 |b_1| / b_2$.

Also $(1 + \beta)2h - 2\beta\alpha - h(1 - \beta) \le (3\beta + 1)h$ and $B \le (3\beta + 1)h|b_1|/b_2$. Therefore, (11) implies

$$\sum_{k=2}^{\infty} \left\{ (1+\beta)\lambda_k - 2\beta\alpha - h(1-\beta) \right\} |f_k|
\leq 2 \frac{|b_1|}{b_2} \sum_{k=2}^{\infty} \left\{ (1+\beta)\lambda_k - 2\beta\alpha - h(1-\beta) \right\} |f_k| + \frac{(3\beta+1)h|b_1|}{b_2}.$$
(12)

Using (12), now we prove the following theorem.

Theorem 2. Let
$$a_2 \ge 0$$
, $b_2 > 0$, $c_2 = 0$, $c_1 = h^n + 2ha_2 + b_2$ and $|a_1| b_2 \le |b_1| a_2$. If
$$(3\beta + 1)h |b_1| \le 2\beta (b_2 - 2|b_1|) (h - \alpha),$$
 (13)

then differential equation (4) has solution (6) pseudostarlike of the order $\alpha \in [0,h)$ and the type $\beta \in (0,1]$.

Proof. Conditions (13) and $|a_1| b_2 \le |b_1| a_2$ imply $b_2 - 2 |b_1| > 0$, i.e. $2 \frac{|b_1|}{b_2} < 1$. Therefore, from (12) we obtain

$$\left(1 - 2\frac{|b_1|}{b_2}\right) \sum_{k=2}^{\infty} \left\{ (1+\beta)\lambda_k - 2\beta\alpha - h(1-\beta) \right\} |f_k| \le \frac{(3\beta+1)h|b_1|}{b_2},$$

whence in view of (13) we get

$$\sum_{k=2}^{\infty} \left\{ (1+\beta)\lambda_k - 2\beta\alpha - h(1-\beta) \right\} |f_k| \le \frac{(3\beta+1)h|b_1|}{b_2 - 2|b_1|} \le 2\beta(h-\alpha),$$

i.e. the inequality (10) holds, and function (6) is pseudostarlike of the order $\alpha \in [0, h)$ and the type $\beta \in (0, 1]$.

4 Pseudoconvexity

In [13], it is proved that if

$$\sum_{k=2}^{\infty} \lambda_k \{ (1+\beta)\lambda_k - 2\beta\alpha - h(1-\beta) \} |f_k| \le 2\beta h(h-\alpha), \tag{14}$$

then function (3) is pseudoconvex of the order $\alpha \in [0, h)$ and the type $\beta \in (0, 1]$.

Theorem 3. Let
$$a_2 \ge 0$$
, $b_2 > 0$, $c_2 = 0$, $c_1 = h^n + 2ha_2 + b_2$ and $|a_1| b_2 \le |b_1| a_2$. If
$$(3\beta + 1)h |b_1| \le \beta (b_2 - 4|b_1|) (h - \alpha),$$
 (15)

then differential equation (4) has solution (6) pseudoconvex of the order $\alpha \in [0,h)$ and the type $\beta \in (0,1]$.

Proof. As above, we have

$$\sum_{k=2}^{\infty} \lambda_{k} \left\{ (1+\beta)\lambda_{k} - 2\beta\alpha - h(1-\beta) \right\} |f_{k}|$$

$$\leq \sum_{k=2}^{\infty} kh \left\{ (1+\beta)kh - 2\beta\alpha - h(1-\beta) \right\} \frac{(k-1)h|a_{1}| + |b_{1}|}{(kh)^{n} + kha_{2} + b_{2}} |f_{k-1}|$$

$$= \sum_{k=1}^{\infty} (k+1)h \left\{ (1+\beta)(k+1)h - 2\beta\alpha - h(1-\beta) \right\} \frac{kh|a_{1}| + |b_{1}|}{((k+1)h)^{n} + (k+1)ha_{2} + b_{2}} |f_{k}|$$

$$= 2h \left\{ (1+\beta)2h - 2\beta\alpha - h(1-\beta) \right\} \frac{h|a_{1}| + |b_{1}|}{(2h)^{n} + 2ha_{2} + b_{2}}$$

$$+ \sum_{k=2}^{\infty} (k+1)h \left\{ (1+\beta)(k+1)h - 2\beta\alpha - h(1-\beta) \right\} \frac{kh|a_{1}| + |b_{1}|}{((k+1)h)^{n} + (k+1)ha_{2} + b_{2}} |f_{k}|$$

$$= \sum_{k=2}^{\infty} \lambda_{k} \left\{ (1+\beta)\lambda_{k} - 2\beta\alpha - h(1-\beta) \right\} A_{k}^{*} |f_{k}| + B^{*},$$
(16)

where $A_k^* = (k+1)A_k/k \le 2A_k$ and $B^* = 2hB$. Using the above estimates for A_k and B, we obtain $A_k^* \le 4|b_1|/b_2$ and $B^* = 2(3\beta+1)h^2|b_1|/b_2$. Condition (15) implies $4|b_1|/b_2 < 1$. Therefore, from (16) as above we get

$$\sum_{k=2}^{\infty} \lambda_k \left\{ (1+\beta)\lambda_k - 2\beta\alpha - h(1-\beta) \right\} |f_k| \le \frac{2(3\beta+1)h^2 |b_1|}{|b_2 - 4|b_1|}$$

and, thus, (15) implies (14), i.e. function (3) is pseudoconvex of the order $\alpha \in [0, h)$ and the type $\beta \in (0, 1]$.

5 Close-to-pseudoconvexity

It is known [11, p. 140] that if $\lambda_k = \lambda_{k-1} + h$ and $f_k > 0$ for all $k \ge 2$ and

$$h \ge \lambda_2 f_2 \ge \dots \ge \lambda_{k-1} f_{k-1} \ge \lambda_k f_k \ge \dots, \tag{17}$$

then function (3) is close-to-pseudoconvex.

Theorem 4. Let $c_2 = 0$, $c_1 = h^n + ha_2 + b_2$, $a_2 \ge 0$, $b_2 > 0$, $-b_2/2 \le b_1 < 0$ and $-a_2 \le a_1 \le 0$. Then differential equation (4) has close-to-pseudoconvex solution (6).

Proof. Since $a_2 \ge 0$, $b_2 > 0$, $b_1 < 0$ and $a_1 \le 0$, we have $f_1 = 1$ and

$$f_k = \frac{(k-1)h|a_1| + |b_1|}{(kh)^n + kha_2 + b_2} f_{k-1} > 0$$
 for $k \ge 2$.

Also

$$\lambda_2 f_2 = 2h \frac{h|a_1| + |b_1|}{(2h)^n + 2ha_2 + b_2} \le h \frac{2h|a_1| + 2|b_1|}{2ha_2 + b_2} \le h$$

and

$$\frac{\lambda_k f_k}{\lambda_{k-1} f_{k-1}} = \frac{k}{k-1} \frac{(k-1)h |a_1| + |b_1|}{(kh)^n + kha_2 + b_2} \le \frac{k(k-1)h |a_1| + k |b_1|}{k(k-1)ha_2 + (k-1)b_2}$$

$$\le \frac{k(k-1)ha_2 + kb_2/2}{k(k-1)ha_2 + (k-1)b_2} \le 1$$

for $k \ge 3$, i.e. (17) holds and function (6) is close-to-pseudoconvex.

References

- [1] Alexander J.W. Functions which map the interior of the unit circle upon simple regions. Ann. of Math. (2) 1915, 17 (1), 12–22. doi:10.2307/2007212
- [2] Golusin G.M. Geometric Theory of Functions of a Complex Variable. In: Translation of Mathematical Monographs, 26. American Mathematical Society, Providence, 1969.
- [3] Goodman A.W. Univalent function. Vol. II. Mariner Publishing Company, Hardcover, 1983.
- [4] Gupta V.P. Convex class of starlike functions. Yokohama Math. J. 1984, 32, 55–59.
- [5] Holovata O.M., Mulyava O.M., Sheremeta M.M. *Pseudostarlike, pseudoconvex and close-to-pseudoconvex Dirichlet series satisfying differential equations with exponential coefficients*. J. Math. Sci. 2020, **249**, 369–388. doi:10.1007/s10958-020-04948-1 (translation of Mat. Metody Fiz.-Mekh. Polya 2018, **61** (1), 57–70. (in Ukrainian))

- [6] Jack I.S. Functions starlike and convex of order α . J. Lond. Math. Soc. (2) 1971, **s2–3** (3), 469–474. doi: 10.1112/jlms/s2-3.3.469
- [7] Kaplan W. *Close-to-convex schlicht functions*. Michigan Math. J. 1952, **1** (2), 169–185. doi:10.1307/mmj/1028988895
- [8] Shah S.M. Univalence of a function f and its successive derivatives when f satisfies a differential equation, II. J. Math. Anal. Appl. 1989, 142, 422–430. doi:10.1016/0022-247X(89)90011-5
- [9] Sheremeta M.M. Entire Dirichlet series. ISDO, Kyiv, 1993. (in Ukrainian)
- [10] Sheremeta M.M. Full equivalence of the logarithms of the maximum modulus and the maximal term of an entire Dirichlet series. Math. Notes 1990, 47, 608–611. doi:10.1007/BF01170894 (translation of Mat. Zametki 1990, 47 (6), 119–123. (in Russian))
- [11] Sheremeta M.M. Geometric properties of analytic solutions of differential equations. Publ. I.E. Chyzhykov, Lviv, 2019.
- [12] Sheremeta M.M. On the derivative of an entire Dirichlet series. Math. USSR Sb. 1990, **65** (1), 135–145. doi:10.1070/SM1990v065n01ABEH002076 (translation of Mat. Sbornik, 1988, **137** (1), 128–139 (in Russian)).
- [13] Sheremeta M.M. Pseudostarlike and pseudoconvex Dirichlet series of the order α and the type β . Mat. Stud. 2020, 54 (1), 23–31. doi:10.30970/ms.54.1.23-31
- [14] Sheremeta Z.M., Sheremeta M.M. *Convexity of entire solutions of a differential equation*. Mat. Metody Fiz.-Mekh. Polya 2004, **47** (2), 181–185. (in Ukrainian)
- [15] Sheremeta Z.M. On entire solutions of a differential equation. Mat. Stud. 2000, 14 (1), 54–58.

Received 20.03.2023 Revised 17.02.2024

Шеремета М.М., Трухан Ю.С. Про узагальнення одного рівняння Шаха // Карпатські матем. публ. — 2024. — Т.16, \mathbb{N}^2 1. — С. 259–266.

Ряд Діріхле $F(s)=e^{hs}+\sum_{k=2}^{\infty}f_ke^{s\lambda_k}$ з показниками $0< h<\lambda_k\uparrow+\infty$ і абсцисою абсолютної збіжності $\sigma_a[F]\geq 0$ називається псевдозірковим порядку $\alpha\in[0,h)$ і типу $\beta\in(0,1]$ в $\Pi_0=\{s:\operatorname{Re} s<0\}$, якщо $\left|\frac{F'(s)}{F(s)}-h\right|<\beta\left|\frac{F'(s)}{F(s)}-(2\alpha-h)\right|$ для всіх $s\in\Pi_0$. Аналогічно, функція F називається псевдоопуклою порядку $\alpha\in[0,h)$ і типу type $\beta\in(0,1]$, якщо $\left|\frac{F''(s)}{F'(s)}-h\right|<\beta\left|\frac{F''(s)}{F'(s)}-(2\alpha-h)\right|$ для всіх $s\in\Pi_0$, а F називається близькою до псевдоопуклої, якщо існує така псевдоопукла (з $\alpha=0$ і $\beta=1$) функція Ψ , що $\operatorname{Re}\{F'(s)/\Psi'(s)\}>0$ в Π_0 .

Знайдено умови на параметри a_1 , a_2 , b_1 , b_2 , c_1 , c_2 , за яких диференціальне рівняння $\frac{d^n w}{ds^n} + (a_1 e^{hs} + a_2) \frac{dw}{ds} + (b_1 e^{hs} + b_2) w = c_1 e^{hs} + c_2$, $n \geq 2$, має цілий розв'язок, псевдозірковий, або псевдоопуклий порядку $\alpha \in [0,h)$ і типу $\beta \in (0,1]$, або близький до псевдоопуклого в Π_0 . Доведено, що для такого розв'язку $\ln M(\sigma,F) = (1+o(1)) \frac{n \sqrt[n]{|b_1|}}{h} e^{h\sigma/n}$ при $\sigma \to +\infty$, де $M(\sigma,F) = \sup\{|F(\sigma+it)| : t \in \mathbb{R}\}$.

Ключові слова і фрази: диференціальне рівняння, ряд Діріхле, псевдозірковість, псевдоопуклості.